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BLiS 230: Business and Egonomics Communication and Research
In-class Exercise: Interpreting SPSS output for hypothesis testing
Instructor: Dr. James Murray

Directions: Work in groups of up 1o four people and answer the questions on the following pages. All papers will be
collected, but only cne member's paper wil be randomly salected and graded and all members of the group will receive
the same grade. Failure to complete the worksheet with a group will result in a 20 percentage point penalty.

In the following pages are six resgarch questions and the SPSS cutput for the appropriate statistical analysis to answer
the research question. The purpose of this assignment is to demonstrate you can conduct all the steps these hypotheses
tests, and that you can read SPSS output and repart summary statistics and hypothesis tests conclusions in plain English.

For all hypothesis tests, you should do the following steps:

Report the null and alternative hypothesis.

Report the p-value.

Report whether you reject the null hypothesis or fail to reject the null hypethesis.
Report the conclusion in plain English, in the context of the research problem.

Mo~

Note, many of the following scenarios also ask you to report additional information. Include this additional information in
your answers.,

By signing below, you agree that the following work represents the efforts of everyone in the group, and you are willing
you accept as your own grade for the group assignment the grade earned from this representation of the group’s work,

Signature Group Member 1 Print Name Date
Signature Group Member 2 Print Name Date
Signature Group Member 3 Print Name Date

Signature Group Member 4 Print Name Date



1. A researcher is interested in determining whether there is a relationship between grade school children’s
interests and the class standing. The researcher asked 478 grade school children whether being gocd at sports,
being popular, or getting good grades was their most important goal. Class standing is 1st grade, 2nd grade,
3rd grade, 4th grade, and 5th grade. The researcher runs a Chi-squared test of Independence to determine if
Goals and Class Standing is related. Use the SPSS output below to answer this research question. /n your
answer, also describe what percentage of 3rd grade children care most about getting good grades.

Note: Goals = 1 if primary goal is Sports, Goals = 2 if primary goal is being Popuiar, Goals = 3 if primary goal is
getting good grades.
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2. Aresearcher is interested in how important getting good grades are for 4th grade school chitdren versus 5Sth
grade school chifdren. She gives the children a survey and asks them to rate how important getiing good grades
are fo them on the scale, “Very Important,” “Somewhat Important,” and “Not imporiant.” The researcher
conducits a Mann-Whitney U-Test to determine whether the median response for 4th grade students is different
than the median response for Sth grade siudents. Use the SPSS output below to answer this research question.
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3. A researcher is interested in determining whether there is a relationship between income inequatity and crime
rate. In 1960, researchers collecied data on crime rate and income inequality for 47 U.S. states. The
researcher estimates a Pearson Correlation Coefficient on crime rate and income inequality. Use the output
from SPSS given below to answer this research question. in your answer, also report what is the sampie
estimate for the correlation between crime rate and income inequality.

A: Crime rate (number of offenses reperted to authorities per 1,000,000 population)
X: Income inequality (number of families living below 2 median income per 1,000 population)
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4, A researcher is interested in whether there is a difference in the unemployment rate of men ages 14-24
(Variable U1 is number of unemployed men aged 14-24 per 1000 men in the age group) and men ages 34-39
{Variable U2 is the number of unemployed men aged 35-39 per 1000 men in the age group). In 1960, the
researcher collected data on the unemployment rate of men in these age groups for 47 U.S. states. The
researcher estimates a paired-sample t-test fo determine if there is a difference in the unemployment rates. Use
the SPSS cutput below to answer this research question. In your answer, also report the average difference in
the unemployment rate. Which age group experiences a higher unemployment rate?
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5. Health officials for the State of New Mexico are interested in estimating the average number of patient-days
in the state’'s 52 licensed nursing homes. In particutar, they are interested in whether the average number of
patient days is greater than 250. The health officials conduct a one-sample T-test 1o determine whether the
average number of patient days is statistically significanily different from 250. Use the SPSS output below fo
answer the research question. In your answer, aiso report the sample estimate for the average number of
patient-days in New Mexico nursing homes.
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8. Health officials for the State of New Mexico are interested in whether the average number of patient days in
rural nursing hemes (RURAL=1) is different than in urban nursing homes {(RURAL=0). To answer this question,
the heailth cfficials conduct an independent samples T-test for difference in means. Use the SPSS output to
answer the researcher’'s question. In your answer, also report the average of number of patient days in New
Mexico nursing homes in rural areas, urban areas, and the difference between the two.
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7. Heaith officials in the State of New Mexico are interested in estimating what percentage of state licensed
nursing homes is struggling financially. Historically, when a nursing home's profit margins fell beiow 1% the
nursing home would typically close within 5 years. Researchers collect data on 52 nursing homes and create a
dummy variable for low prefit margin that is equal to 1 when the profit margin in below 1% and is equal to O
otherwise. The researchers conduct a cne-sample T-test to determine whether the percentage of nursing
homes struggling financially is different than 20%. Use the SPSS output below to answer the researcher's
question. Also in your answer, report the sample estimate for the percentage of nursing homes struggling
financially.
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